START (U1 L2)
	Parallel lines
	do not
	cross.

	
	never
	meet.

	Perpendicular lines
	meet
	at
	90
	degrees.

	
	intersect
	at
	one
	point.

	The
	top
	pair.

	
	first
	

	We
	can
	use
	the
	corner
	of
	a
	sheet.

	Yes

No
	they
	do.

don’t.

	They
	aren’t
	perpendicular lines.

	Because

So

As
	they
	don’t
	meet
	at
	90
	degrees.


MAIN TEACHING
	Yes,

No, 
	they


	are.

aren’t.

	Because

As

So
	they
	never
	meet.

	………….
	is
	parallel
	to
	………….

	………….
	 are
	parallel
	to
	………….

	No, 
	there
	aren’t.


ENDING

	Yes,

No,
	there is.

there isn’t.


